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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

The dimension of stopping potential V{] in
photoelectric effect in units of Planck’s
constant ‘h’, speed of light ‘¢’ and
Gravitational constant ‘G" and ampere A
15

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all

candidates.
Options:
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1. h2G¥2c1/3 A1
9 h/3G2/3 /3 A-1
7 hY3SAGU3A-T

4 h=2/3-1/3G4/3 A1

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HehTY faerd wura | e fasa V, (stopping

potential) EQl %’W‘i Wi TRl ‘h', TRt

FIA ¢ ST TR el G, T TR

A H = ¥ 9 fFgg =53 gm ?

Note: For this question, discrepancy is found in question/answer Full Marksis being awarded to all

candidates.
Options:

-'I. hREG32-1/3 A1

1/3 2/3 21/3 1
2. G e A Q\Q
3. h232/3gl/3 A1

4. h-2/3c-1/3GY3 A1

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sleasgls vl 2l deellag v, 4wk
wdlrs wE0ls ‘hY, usialHl Bou e dgesusl
HYUis ‘G ouA R A AL @
al.
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Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.
Options:

1. R2G¥2c1/3 A1
9 h/3GY3cl/3A-1
3 hY3SAGUIA-T

4 h=2/3c-1/23G43 A1

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
A particle of mass m is fixed to one end of

a light spring having force constant k and
unstretched length [. The other end is fixed.
The system is given an angular speed-w
about the fixed end of the spring ngl‘g&\at
it rotates in a circle in gravity fr@: space.

: . NS
Then the stretch in the sprin 3
Options: @
mlw”
1. k+m o2

mlw=

1 2
2' k—muw

milw
3. k+mw
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5
mlw=

4 k—wm

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

m FSIHH 1 T 1 9o {E40F k Tg AqI-d
Hﬁlﬁiaﬁﬁﬁ'ﬁﬁmﬁprmg] ??Q?-F

SR Y T A &1 FAF! 1 T SR A5 2|

T8 1T &1 IV 77 o S FAH F 9681

F FRI S T S SR T O TEEy

e & 8 U 99§ gud o © 1 3| fefa |

FHA H B =ren fig=e 2
Options:

milew”
1. k+ me->

mlw>
2 k —ma>

\@“
' N

mImE ,§’

3_ k+ mm $Q\Q
$

mlw?

4 k — om

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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25 m £V YRIedl 591 k o72dl BN A5 2
I svedl viuemsc dond ariadl easl R
w5 B51 PPWL srselldl wudd 5. oflsd Hsl
selod 8. 24 dad B oflsd S 53 =44l
A sleld 24 o 2MAEL A © 5 ol o
agcals ™l ol Ysd sl daquusik old s,
Al R3erl Grud gl (vizuw)
%3l.
Options:

ml m‘?

1. k+ ma>

mlw>

2 kK —ma>

ml'mz
3. k+tmw

Q&
Q
N

ﬂ
mlw~

4' k — wm N

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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The coordinates of centre of mass of a
uniform flag shaped lamina (thin flat plate)
of mass4 kg. (The coordinates of the same

are shown in figure) are :

(0, 3) (2, 3)

(2.2)

(1,2)

©.0) (1,0

Options:
1. (075m,1.75 m)

9 (0.75m,0.75 m)

3. (1m,1.75m)

4. (1.25m,1.50 m) Q
%Q
S
S
©
Question Number : 3 Question Type¢ Q Option Shuffling: Yes

Correct Marks: 4 Wrong Marks:
== 5 fomm T 92 F AR F4 kg F=EE
9] UF HHTA UHHHH G2 & el % &

(0, 3) (2, 3)
(2,2)
(1,2)

0,00 (1,0)

Options:
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1 (0.75 m, 1.75 m)

2 (0.75m,0.75 m)

3. (1m,1.75m)

i (1.25 m, 1.50 m)

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 A, 2461 (flag) 253l 2 4 kg EUIAL
Y2l (Wavtl Wiz dlsd) AL geEin SegnL 2l

5. (2ugliul ved AL ks
guled )

(0, 3) (2, 3)

2,2) \\Q®

(1, 2) §Q§
\Q‘b-

&Q

$

(0,0) (1,0)
Options:
1 (0.75m, 1.75 m)

2 (075m,0.75 m)

3. (1m,1.75m)
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4. (125m,1.50 m)

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Consider a uniform rod of mass M=4m
and length [ pivoted about its centre. A
mass m moving with velocity v making

angle B = ZI to the rod’s long axis collides

with one end of the rod and sticks toit. The
angular speed of the rod-mass system just
alter the collision is :

Options:
3 v

1. 71

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A M =4m 91 | T &1 UHATH B

% F2 T IUE (pivoted) ¥ o T & e

A m FHAM F TF FU, TS F ok FH I
i1}

0 = - IO g TS F 0 R |z

T ¥R Ty s 9 ¥ g e =
TFFL T A2 HIE T B0

Options:
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Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2is M =4m 501 Y3l 244 | el 25
A det g2l [alsa (25ad) 524 8. »is
m AL 2 o sveal Rl ol sl seL ulieadl

ot 434 218 B 0 = E Al 5181 @d
A e @5 Bt WA deud RAmg)
sl & L A A2 o @.\@% 250401
ol dil of Wloe-go sl sl =au
8.
Options:
3 v

1. 71

i
[

2 72
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IMEE
3. 7 1

3|
h--|l‘;4

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Consider two solid spheres of radii
R;=1m, R;=2m and masses M; and M-,
respectively. The gravitational field due to

sphere fﬁ_]j and {ij are shown. The value

f.MT =
0 M, is:
LL] N
4
N
E /\@
) 2" Q-:['\ 1& ®
= '-x_____.-
51 /,ﬂ' \\“M‘__ " S\\Q
[3 4 . . "”'I"-h---T_“""-I-- 2 &%
0 1 2 3 4 5 &
radi@
N)
Options: %
1
1. 6
1
2. 3
1
3 2
2
4, 3
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Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

g 21| Md foawt B R =1m 3R
R,=2m ¥ 3R f5 s Z=mm 99 M, 3R
M, ®ETR A A TR (T) T (2) 5
W TeETRYY & e § fomm ™ ¥ @@

[
/ \@
V0N
i f,xf'f" x,“:\n
3

Options:

1
1. &

G|

=..-J|I-J'

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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25 i Blocd Al R, =1m 241 R, =2m 24 g4l
M, 24 M, SRlsl o A 2loul 23l
A (1) 24 (2) A 5REL Wl 2geeus™l &

r =, ["'rI o &
4 gulda §. ﬁ 4 Y 8.
2
4]
=
™
o 3 y I,*.i.. 3
0 Y
f r’fr B \\
31|y g e
0 1 2 3 4 5
Blsedl R
Options:
1
1. o
1
2. 3
s@@
1 &6
3.2 &
&Q
N
2
4 3

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Consider a solid sphere of radius R and

- IE
mass density p(r) = P, 1 5 |
o R -),

O<r= R. The minimum density of a liquid
in which it will float is :

Options:
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Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T 319 T 1 B R § 3 596 99

,

r s
p(r) = pﬂ{l R—J,ﬂ«:rg R%I ffmzad

)

T e (W) R Tk SH 79 1 FATH T4

U Q®
Options: 0
" S

o

1. ® O

0

A
|
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Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
2

% r
R BsediAl i plr) = pﬂ{l R_E] ,0<r =R,

Ardl G3ldl 215 8- ol SMIHML Al UL
il a4l w5 d e wadlHl dgdy addl
£,

Options:
Po

1*5

1]
4, = ‘\\Q®
&6
&
$

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A leak proof cylinder of length 1 m, made

of a metal which has very low coefficient of

expansion is floating vertically in water at

(0°C such that its height above the water

surface is 20 cm. When the temperature of

water is increased to 4°C, the height of the

cylinder above the water surface becomes

21 cm. The density of water at T=4°C,

relative to the density at T=0°C is close to :

Options:
1. 104
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9 1.01
3 126

/4, 1.03

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U @l JF 1 m T ST Fad U Uhl
ST <1 o1 g1 ¥ Tormeht J9m Tulish 109 2 |
Ig HIHT BT 0°C AT9HH F T H o W@ 8
FR ST TS 3 20 cm R IHT 3 SR 2
Sl T = GI9EM 4°C T =@l T S § 9
WWEEITWQ Wﬁﬂﬁﬁiﬂcmﬁi
S ¥ 1 7 0°C % T 4°C W UM 1 9
fra d 4 fogs e 82

Options:

1. 104

\Q
5 101 %&s\

S
N
3. 126

4. 1.03

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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25 Vol Al Uuzels duadl aguisl wndl
2 #201-3(Ed (leak proof) Avusi-Al doewd
Im 8, 5 o/ 0°C ™A 2dd Wl Ge =il
2l o2 & 5 sl adl, 20 em e el 2el-L
Gur 2. et welle drysiq qaEla 4°C s2al
oAl 8 13 ellHl HwdlHl ez 2daL AvusRAL
ool 21 em A H. T=0°C diuH--l
Ayviellul T=4°C ardaid weelll sl

Al A5 .

Options:

1. 1.04
7 1.01
3 1.2
4, 103

Q
N

>
Question Number : 8 Question Type :@ Option.Shuffling : Yes
Correct Marks: 4 Wrong Marks: Q)

A thermodynamic cycle xifzx is shown on

a V-T diagram.

The P-V diagram that best describes this
cycle is : (Diagrams are schematic and not
to scale)

Options:
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Z
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Sk
Q\sz»
Question Number : 8 Question Typ%ﬁCQ Option.Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

T FHMIAS dsh ayzx & (VLI )W fa |

T T

59 95 1 FEtEd (P-V) s = § g FE @
© 2 (o=t wishfae )

Options:
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P
X L4
\
®._
Tz
2. v
P
X
™
y z
3. v

Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks:'1

2is Guafly 2l Wb xyzx A(V-T) 2ucvu
gelldd .

(P-V) 2ousld & o =1 2l ulpad Hiell uel
A el etz a . (2udu vl
Y © 24 o usHHL A2)

Options:
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Question Number : 9 Question Type:-MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The plot that depicts the behavior of the
mean free time T (time between two
successive collisions) for the molecules of
an ideal gas, as a function of temperature
(T), qualitatively, is : (Graphs are schematic
and not drawn to scale)

Options:
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D
Question Number : 9 Question Typ§G§CQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

TRt i FA o A a9 *
AT T S G FeA 1 (ST SI ZaHa
% =14 1 99T ) = A9HA (T) % 91 fa=mo
feam 27 (it wisfas 2)

Options:
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4. T

Question Number : 9 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1 6@
25 WUENY HE IR Hard HHY @s\%ﬁ.&
SRl w2l wHd) 7oAl d (T) Al
@8 sl opoucus dld %&ﬂ’@& da Qutdl
A dellaudw > (Ui sl
e § e o HEHAL )
Options:
/.«"

T 3 o

1. 7 T
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Question Number : 10 Question Type: MCQ Opti@huffling: Yes
Correct Marks: 4 Wrong Marks: 1 ‘&\

Three charged particles A, B a with
charges —4q, 2q and —2q %tesem on
the circumference of a ci of radits/d.
The charged particles A, Cand centre O of
the circle formed an equilateral triangle as
shown in figure. Electricfield at O along
x-direction is :

Options:
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1 . dregy d2

. %ﬁq
2' -—1*mznd2

2.3q
3 *m.r;gdz

\ﬁq

4 ’iT«!.:.{}lEl1

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A, B 3R C =¥Eer 1, ToH 92 319 a9
~4q,2q ¥R -2q &, d = & = 99 F
TR W TE F01 A, C 3R J0 F Fs
O U F9=1g 3y« 713 8| (ﬁﬁlﬁﬁs&é%ﬂ
oW x-ﬁ?ﬂﬁﬁﬂﬁ%ﬂaﬂmﬁ%%b%

Options:

g

-‘I . d1egy d2
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2 ] dey d?
243q
3 ’mE.DdE
: \Eq
4 11'&{],::12

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2w sH —4q, 2q 21 —2q wedl [Herms
Al 39 [ydmlkd sel A, B 24 C, d
sv2el M LRISAL AqoAL Yl WR 2uddL 8,
[AgasiEld 580 A 211 C , 2 4 O 2ugldai
BlleML 2AUR HHely BsL A 6. O 24

[Eyrgiat x-[Eus Al
y g\@ﬁ“

A &

S

Options:

J3q

1 . dregy d2

343q
2 . d1rey d2
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Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Effective capacitance of parallel
combination of two capacitors C, and C is
10 wF. When these capacitors are
individually connected to a voltage source
of 1 V, the energy stored in the capacitor
5 is 4 times that of C,. If these capacitors
are connected in series, their effective

capacitance will be :

Options:
1. 8.4 uF
S\&
NS
2. 4.2 wF be.
N
@Q
$

3. 3.2 uF
A 1.6 puF

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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TE Herd ¥ g2 & §uifei C, R C, #
T S 10 WF 2 | 54 57 Genfisi 1 fer-
F 1V F Ea 3 el 5 g, @ C, H wiea
i C, H "faa s % 4 T A €1 Afg T
it = gvitars =9 1SSl 9, o STt
Wﬁ[ﬁﬁiﬁi’ﬁ:

Options:

1 84pF

Question Number : 11 Question Type: MCQ Optio@uffling: Yes
Correct Marks: 4 Wrong Marks: 1 \Q

o HMURSL C; 2 C, AL iR @uﬂ -l
SEETIED aﬂmm 10 pF E.‘i' wpEHizAA 1Y
AL clle2oy GEIM 22U 2L sAG@IRL 248, 60/ 4R
G, H ﬂ:.u.[%n Glod C, 53l 4 2wl & =d
HelRsA HHidul mscum 21 b Ml 251258
deRsdl I

Options:
1 8.4 wF

7 42pF

9 32uF
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A 1.6 pF

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Proton with kinetic energy of 1 MeV moves
from south to north. It gets an acceleration
of 102 m/s> by an applied magnetic field
(west to east). The value of magnetic field :
(Rest mass of proton is 1.6 x 10~ 2" kg)
Options:
1. 71 mT

2 7.1 mT
3 0.71 mT

4. 0.071 mT
S

%Q

S

Question Number : 12 Question Type: N@'Option Shuffling : Yes
Correct Marks: 4 WrongMarks: 1

Ih-fevmwmwu@:laﬁmﬁm
F1 AR 9 W@ ¢ | 1w d gd il An fewm ®
TH FHEHE &9 4 59 W 1012 mys? FH =0
eI EAIE | T 8 OREm A : (W
=1 form F=HH=1.6x10 % kg)

Options:

"|_ 71 mT

2 7.1 mT
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3 0.71 mT

4. 0.071 mT

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

1 MeV sy2dl 21[c@ed aztedl Wi elaeel G
A5 9l 52 & 2 d @udd Aeslee (U
gl yd) A s2el 1012 m/s? &l uabi wy 9.
2eisly el ye 23l (el
Rz g =1.6x10 % kg)

Options:

1. 71 mT

2 7.1mT

0.71 mT
3. S

4. 0.071 mT N

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In finding the electric field using Gauss law

Yenc

is applicable. In
[—.ﬂ. ;‘ji.

the formula ‘E‘ =

the formula €, 1s permittivity of free space,
A is the area of Gaussian surface and q_
is charge enclosed by the Gaussian surface.
This equation can be used in which of the
following situation ?

Options:
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1 For any choice of Gaussian surface.

Only when the Gaussian surface is an
2 equipotential surface.

Only when the Gaussian surface is an

equipotential surface and ‘E‘ is

3 constant on the surface.

Only when ‘E‘ = constant on the

4. surface.

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e e w1 WA #1 faga g9 w1 A
| = e & e s ¥1 e w ¢, Frafa
€A

ﬁﬁwﬁam%.aﬁammﬁﬂw@
qﬂuﬂ“mﬂﬁamfmﬁaﬂaﬂéﬁ@ =g
THHI0 T FEFT ﬁmﬁf{ﬁ&' fefrfa G
fofran 11 Wl © 2 @$

Options:

1. Tt e TaE F faa

FIe 99 B o9 MY Tdg Safayd 908

2 =l

Fad 99 & 99 MY Gag gHfaYd 9qe
3 a1 3R |E| 1 HH 59 9d8 W A= 2|
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hﬁﬁﬁm‘g‘mmwwm

4. FEA

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AL [l seeell Byasa wac wie

Yenc
|E| € o) sl s . el € s

Hel mqamrﬂ wHleellZl, A =4 oladlaA 2wl
geso o 2 ol -l s gaudl
([Agamr o, el s Bl 2
wlseiAL Guer s34l 2si?

Options:

1. slguel usiRAL M Y w2

g5t eadl2 AUl yos MR Y

SRt
"~
s5cl sllx AR{luA Y Hﬂﬁ@‘j}a
3 € 2 Yo GuR ‘1:‘ @%%1 4

4 B sell Ys Guz ‘E‘ R 1.

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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At time t =0 magnetic field of 1000 Gauss
is passing perpendicularly through the area
defined by the closed loop shown in the
figure. If the magnetic field reduces
linearly to 500 Gauss, in the next 5 s, then
induced EMF in the loop is :

«— l6cm

Options:
1. 8uV

2, 361V
3, 48V

4. 56V
%@
Ry
Question Number : 14 Question Type: @2 Option Shuffling: Yes
Correct Marks: 4 Wrong Marks

Wt_nmﬁﬂqﬁ@ﬂ%q—uﬁqp‘quﬂ
BT 1000 T1H H1H 1 T 19 45 59F o=
e €1 afz o7t 5 s F g o= #
T TG (linear) ¥9 9 SEHT500 TH & S
€ d 99 H 3@ f=E-9es 5 =1 99

l6em——

Options:
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2 3uV
3 48 pV
4 56 WV

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

t=0 ¥4, 1000 2Wu 2eisld & suou-
srtsoriell dezil R 2 8, sl 2ugld. s
oflod 5 ws-sui Yotsly &t 2uily {ld w2l
500 2U# 214 dl duvuHl Ukd EMF 524 23]

: 16 cm
N 7
4 Jm Erz-‘-:m/-\ <// S’Q&@
| L NS
Options: @$®
1. 28V
2 36V
3. 48V
4. 56 pV
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The critical angle of a medium for a specific

wavelength, if the medium has relative

4
permittivity 3 and relative permeability E

for this wavelength, will be :

Options:
1, %

3. e0°

4 157

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

TF W1 Fl, UF a9 doresd F ford g

. GO
faeaeiier 3 & 3R "he f 5%1
59 wiTe & fod W %H-?TUTHEI
'FIFE%’: @
Options:
1. 30°
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4. 15

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o Al ond 2 eyl ada wildllZl
(Qzidydis) 3 @« wWdE WRoMHdAL

T 4 = = T s
(uzaluedldl2) 3 Gl e HiAL sildsiel

231,
Options:
1. %
2.
3. 60°
4, 15° §<\Q®
S
N

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The magnifying power ol atelescope with
tube length 60 cm is 5. What is the focal
length of its eye piece ?

Options:

1. 10 cm

2 20 cm
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4' 40 cm

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Ife U T F 2T H A=E 60 cm ©
ﬁmmﬁS@lﬁTmﬁfiﬁ(E}repmﬂe}

Options:
-'| 10 cm

2 20 ecm

3_ 30 cm

4_ 40 cm

"~

Question Number : 16 Question Type: MC@ptlon Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1 \

60 cm s72ell zyedend u@u edlesivAl
Hizeell 5 8. A5 Al spdend sedleal?

Options:
1 10 cm

2 20 cm

3 30 cm

*
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4 40 cm

*

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

When photon of energy 4.0 eV strikes the
surface of a metal A, the ejected
photoelectrons have maximum kinetic
energy T_ A eV and de-Broglie wavelength
hA. The maximum kinetic energy of
photoelectrons liberated from another
metal B by photon of energy 4.50 eV is
Ty;=(T,—1.5)eV. If the de-Broglie
wavelength of these photoelectrons
hl;=2h A then the work function of metal
Bis:

Options:

1 1.5eV

2 4 eV

3. JeV %&’

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

9 4.0 eV Foll & HEE 919 A F Gag T
TSt Sl T, eV & R 371 E1-rell aiTes
Ny T TF A UG B W 450 eV F F
IRl & TS T SeaTord SeraRil ohi SATehRaH
st Sl Ty=(T,—1.5)eV &1 afz T
1St e Ay =2\, T, T 491G B & FE
Fer A € ;

Options:
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1 1.5eV

2_ 4 eV
3 3eV
4_ 2eV

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

stk 4.0 eV Glsd eridl sl aig A -l 1wl
L 2SI 8 413 Betsdell S92 1A YR My
AAGed T, eV 24 &l-sliodl adodeud A, ©.
ofly 4iq B gl2t 4.50 eV Gsdeon siziql
si219asginA-l g AldGed T, =(T, — 1.5)eV
8. ot =l sl2igdseiqdl sl-elpdl diadeud
Ag =2\, €l rﬁ B 4 «sfsu- (ﬂtisfi@&)

e edl. < (&\@
1. 15ev @QQ

9 4eV

3 3eV

4. 26V

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1

The graph which depicts the results of
Rutherford gold foil experiment with
o-particles is :

B : Scattering angle

Y : Number of scattered a-particles detected

(Plots are schematic and not to scale)

Options:
Y \
1. 0 86—

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

i fed 73 feli § 9 =1 W 7F wWEE F
T T 9T -0 G FoR 718 W < i
1 <Y B 7 FE W

B : FERTUE HI (Scattering angle)

Y : WehITUd o011 i HE&

(fe= miwfas )

Options:
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1. 0 80—

D
Question Number : 18 Question Type: I\@- ption. Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1 $Q

322508 il SRV W2 o-"$BL AL AL
yhouy qoldl 95 a4 2udw . LT s

B @ slel siel

Y : AlEal 2 wbelH uear a-seidl dua
(23 20dull 551 gld yad 6, H-2Eel
zlzell )

Options:

N

1. 0 8-
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Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Boolean relation at the output stage-Y for

N
piS] v
T

ke
I[:._Hﬁﬁér if OQutput-Y

'_,;"'— = 23 4
5VT B I ?%

the following circuit is :

Options:
1. A+B

Z.A‘B
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Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

4 fe ™ iy & A Y & fog gfem
] B
T +5V
By 1
. . t—T1—4q ) Outputy
) S F T 9
B VI B —:L SE
Options:
1. A+B
2 A-B
3. A+B
4., A-B
"~
N
Question Number : 19 Question Type: M ption Shuffling : Yes

Correct Marks: 4 Wrong Marks: 1 ’Q\

sl by M2 206248 w2 odliA Hoia

aal.
4 45V
'_:-" o T
5 '—'—:I,». ) Output-Y
i—: = - A
5V B L b
Options:
1. A+B
9 A-B
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Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The length of a potentiometer wire is
1200 cm and it carries a current of 60 mA.
For a cell of emf 5 V and internal resistance
of 20 €2, the null point on it is found to be at

1000 em. The resistance of whole wire is :

Options:
1. 600
3 80 €2
31000
"~
>

S

&
4. 1200 N

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U GrefurTe % 1’ i o= 1200 cm @
ﬁ?%ﬂﬁﬁﬂmﬁﬁﬁ@ﬂ%ﬂ%ﬁﬁlﬁ%t
U 5 V faa-9r® 9d 991 20 Q A6dE
yiqieF 9t I F o 59 W gger fag
1000 cm W AT &1 79 GefwEme % ar
%‘lﬂﬁlﬁﬂ%:

Options:

1. 00
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2. 80 02

3. 1000

4. 1200

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ieealelzadl deud 1200 cm & 24 dmizl

60 mA AL Mol WHR A B, 5V %2dl emf

Gl 24 20 0 @lidlRs 2R1E daEdl Beasy

(cell) W2 d-l W ¥ad Ada- (61§ 1000 cm

DA MO B, B Al MUY

1§
Options:
1. 6002
"~
9 800 §®
\Q‘Z»
@Q
$

31000
4. 1200

Sub-Section Number: 2

Sub-Section 1d: 40503687

Question Shuffling Allowed : Yes

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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A particle is moving along the x-axis with
its coordinate with time ‘t' given by
x(t)=10+8t—3t>. Another particle is
moving along the y-axis with its coordinate
as a function of time given by y(t) =5— 8t’,
At t=1 s, the speed of the second

particle as measured in the frame of the first

particle is given as Jo. Theno (in m/s) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

580.0 to 580.0

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

U F 1-3% T 79 YHR =9 @ ¢ 6 50
Wt%@ﬂxﬁ&%{cmrdﬂate}iﬂﬁﬁ
x(t) =10 +8t—32 T T THA FI y-34 T
I @ ¥ N 39 y FEmE () =586
g fem S 21 afgt=1s W 9 FU &
T TH W H G Jo @, @ o = OAA

(m/sH) T . \@
Response Type: Numeric %g\
Evaluation Required For SA: Yes ¢b§’

Show Word Count: Yes ,Q\Q
Answers Type: Range @$
Possible Answers:

580.0to0 580.0

Question Number : 21 Question Type: SA

Correct Marks: 4 Wrong Marks: O
w5 500 x- 2Eel Bl duA b e dHl w
A =10+8t—32 < »u d¥ 2ld 53 8.
oflsd 521 y-2igAl [Erl, w8y 30
y(t) =5—8t7 2l 2™ 204 5. t=15UAH
soidl k2 [Agagal ol sl el 25y

Jooods sl 2ud 8. dl o (m/s ul)
23

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

580.0 to 580.0

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

A body A, of mass m=0.1 kg has an initial

M,

velocity of 37 ms™'. Itcollides elastically
with another body, B of the same mass

A

which has an initial velocity of 5j ms

After collision, A moves with a velocity

;: 4[: | ;] The energy of B after

collision is written as ﬁ ] . The value of x

is
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
10to1.0

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

=90 m=0.1kg F1 U (AU A T ARFHF

5 S
M 3i ms ! ®I %Wﬂﬂ%ﬂ"gﬁ%ﬂ

WEWWBFW
SR 97 jer-; %IE@EWW

:' I

A I

m"im?%]%l x T HA ¥

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

10to 1.0

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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25 g A 4 80l m=0.1 kg 24 -l Wz(6s

PL3i ms ! S, o ofla 2ed o 0L Gl

iy

bt - ! - 'ﬂ\ e -
501 B, 5 ol ME[Gs <21 57 ms ™! & adl
Raldaauds Haud 2iqMd 5. Haid CuE A,

—

o —ali +j) dea anell af 2 8.

r . X - -,
W HeL oIE B Al God — T 9 2u 9. x

10
1 3

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
10to1.0

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A one metre long (both ends open) organ
pipe is kept in a gas that has double the
density of air at STP. Assuming the speed
of sound in air at STP is 300 m/s, the
frequency difference between the
fundamental and second harmonic Q&@a
pipeis Hz. &§’
&

Response Type: Numeric ’Q\Q
Evaluation Required For SA: Yes @
Show Word Count: Yes %
Answers Type: Range

Possible Answers:

106 t0 107.2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

U HieX o 9 SF1 30 W Hel g9 UF 30

9159 1 U UH 79 H @ T g, g e

91 % AFE A T =6 WS ° 5 AR

IE A 20 T 9% a9 9 2@ WAy H =

ﬁﬁ?ﬂﬂm{aﬁ'ﬂﬁﬁﬁm?ﬁﬁam

#Ar fgdia e = ogfa § o= 2
Hz.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
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Possible Answers:
106 to 107.2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

25 dlez diedl (el 838l veel) vl (organ

pipe) -t sedl sl STP 24 geliedl Bell s3elL

(W O TR TR GG TR S AT

STP 2 e+l 254 300 m/s 4Rdl, Ya¥d

el gl 2uad-l 2uqladl  dsied
Hz 2il.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
106 to 107.2

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Four resistances of 15 €2, 12 (}, 4 ) and
10 2 respectively in cyclic order to form
Wheatstone's network. The resistance
that is to be connected in parallel with the

resistance of 101 to balance the network is

0.
Response Type: Numeric K\§
Evaluation Required For SA: Yes @
Show Word Count: Yes Q(b§
Answers Type: Range Q\
Possible Answers: @Q

10to0 10

Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks:.0

150,12 Q, 4 Q 3R 10 ) F =X AR F
FHAG SIS UF =22  qiay a9 S
Tl R AR i A F 100 F
Wi 9L foh () =1 U Wi o9d a9
T wrer o =91t 0l
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
10to 10

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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AR VARl @2iq5d 15 0, 12 Q, 4 Q @4
10 Q 4 sBs (2l 2a) eddlA kel [Gior
oAl wIgd B, @l d2ds (s dxt) A
HHAEA 574l 10 O 2ARiEA HHIdR sasell Yl
AR 0 .

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
10to 10

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

A pointobjectin air is in front of the curved
surface of a plano-convex lens. The radius
of curvature of the curved surface is 30 cm
and the refractive index of the lens material
is 1.5, then the focal length of the lens

(in cm) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

60 to 60

N

. . Q
Question Number : 25 Question Type: SA g\
Correct Marks: 4 WrongMarks: 0 &

Wﬁ@?ﬂmﬁaﬁﬁﬁﬁ@gﬁﬁﬁﬂ
il 3T Hde F A 1@ e | SHe Hefe
F1 =0 30 em % 3R @9 fSwg @€ |
e 1 SATEEHIF 1.5 T T N RERE gl
F1 A cm H fhaa amm

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

60 to 60

Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

25 [Ggad unel w15 wuda-sildelin d-udl
e UZIHL A gl 9. sl dsaBsen
30cm 8 @i dededl el dsloels 1.5 €l
Al drll srgdetd (em ui) 2l

Response Type‘ESIumeric
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

60 to 60
Chemistry
Section Id : 40503658
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 40503688
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The stoichiometry and solubility product
of a salt with the solubility curve given

below is, respectively :

123 @$
[X]/mM

Options:

1 XY, 2x 106 M3

9 XYy 4x10 IM?
3 XY, 2x1077M

4. XY, 1x1077 M
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Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

4= fo8 T 9% F YUR W, UF 97 &l
WA (TEHEREtG) o e
A, FEI:

123
[X]/mM

Options:
1 XY, 2x 106 M3

2 XYy 4x10 IM

3 XY, 2x10 -9 M?

4. XY, 1x1077M° S

Question Number : 26 Question Type: MCQ; Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

5 Ml gleddl 45 A Bildl © dl d-
Al 24 gleddl 2 BUsE i 2l

123
[X]/mM

Options:
1 XY, 2x 106 M3
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7 XY 4x10 M
3 XY, 2x1077M

XY., 1x10~° M
4 >

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The rate of a certain biochemical reaction
at physiological temperature (T) occurs
10° times faster with enzyme than without.
The change in the activation energy upon
adding enzyme is :
Options:

1. —6RT

9 —6(2.303)RT
3 +6RT @$

4. +6(2303)RT

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T# Sa-THEfas AfafeEa #1357 mi
e a9 (T) T T U=amss &1 gor A
TR §R 10° A A B ¥ T &6
e o | s ¥ gftady €

Options:
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1. = 6RT

2 —6(2.303)RT

3. +6RT

4. +6(2303)RT

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Sedls syezipumells A e 2=lEs darun
(T) =L GerasiHl el d2ii-l sletsEl s2dl
10° well 25dl o &, dl Gedas GHray
ulsus201 2lsa wi =l 53512 2WAL?

Options:
1. - 6RT
O
g<\
S
9 —6(2.303)RT $Q\Q
$
3. +6RT

4. +6(2303)RT

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

As per Hardy-Schulze formulation, the
flocculation values of the following for
ferric hydroxide sol are in the order :
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K,[Fe(CN),] > AICL, > K,CrO, > KBr
1. >KNO;

AICL, > K,[Fe(CN),] > K,CrO, >
9 KBr=KNO,

K,[Fe(CN),] <K,CrO, < AICL, < KBr
3 <KNO,

K,[Fe(CN),] < K,CrO, < KBr=
4 KNO,=AICL

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A s R R A wa b T

Options:
K;[Fe(CN),] > AICL, > K,CrO, > KBr
> KINO,
1. s S
g\
S
NG

K
AICL, > K}[Fe(cw}{@&\ ,Cr0,>
2 KBr=KNO;

K,[Fe(CN),] < K,CrO, < AICL, < KBr
3. <KNO,

K,[Fe(CN),] < K,CrO, < KBr=
4. KNO,=AICL

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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lslaesy etz w8l ss eldglsudslani
Guolrt Heudl Al 4 20l
Options:

K, [Fe(CN),] > AICl; > K,CrO, > KBr
1. >KNO,

AICL, > K,[Fe(CN),] > K,CrO, >
7 KBr=KNO;,

K,[Fe(CN),] < K,CrO, < AICL, < KBr
3 <KNO,

K,[Fe(CN),] < K,CrO, < KBr=
4. KNO,=AICL

Question Number : 29 Question Type: MCQ Optio@\uffling: Yes
Correct Marks: 4 WrongMarks: 1 g\\Q

The predominant mtermniecul@,§orces
present in ethyl acetate, a ]_iqL@ e:
Options: @$

hydrogen bonding and London
1. dispersion

London dispersion, dipole-dipole
2 and hydrogen bonding

3 Dipole-dipole and hydrogen bonding,

4 London dispersion and dipole-dipole

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

74 Tfye THee H Sufem wE SAeE
EIFI%

Options:

1. BIESTaA 3= q91 o= gfiemm

o= gitamu, f5ya-Teya a1 eseee
2 Y

3 Toya-f5ya o amgre ey

4. o= uiE g ffya-fay

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

uetidl, Jadd sifEzeHl Yoo widzeiedy sl

Slor? S O d O
Options: @
1. €glor el 2 dsn ﬁi@%

\

$

dis Sblai, gyl -logydl 2 e glsr
9 el

3 legdl-logell 2 eBglort elun

4 dort et 2 (gyell-lagyell

Question Number : 30 Question Typlel: Il\{f&g)[ption Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1

For the Balmer series in the spectrum of H

= 1 1
atom, ¥ =Ry y— — — ¢, the correct
nyp nj

statements among, (I) to (IV) are:

(I)  Aswavelength decreases, the lines in
the series converge

(IT) ~ The integer n, is equal to 2
(IIT) The lines of longest wavelength
corresponds to n,=3

(IV) The ionization energy of hydrogen
can be calculated from wave number
of these lines

Options:

1. (0, ), (m)
2. (I, (I, (IV)
3 (D, (), (IV)

4. (., IV)

N
Question Number : 30 Question Type: MCQ' Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wmmmnwwmm

F=R-ﬂ{n2 i} - (IV) H 5@l %97

2
1 Ny
T

() <9 59 e Tedl ¢, g H wed
Aferfig =t 2

() U n, 2 F 900 |

(IT) <ol TTe=d 1 eE n, =3 T 3%
et F |

(IV) 57 @A =1 901 Hea 9 TEeer &
AT Tl 1 TOET I W e

Options:
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1. (0, (), (m)

2. (), (), (IV)

3. (0, (), V)

4. (D, D, (V)

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

H wepL cr-3ell deiveal

~ 1 0
v =Ry {_2 _z}
ny nz

(M) - (IV) i w2 (G-l .

() oA dZ2icond 2, oM Juril @isdl 2 6,

(I yels n, d 2 'R 8. \\Q®

(TIIT) &t it?'?ﬁlfiit-uﬁ a1l “‘mm{“@}r& 4
23U B, Q\Q

(IV)  @ishslortAl »aelszel @ wil, 2 (AL
Azarivyl Guzell a1ell 2 9,

Options:

1. (D, (I, (1)
2. (I, (), (V)

3. (0, (), (V)
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4. @, (), (1)

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A graph of vapour pressure and
temperature for three different liquids X,

Y, and Z is shown below :

X Y i
~— SDG =1 | i
o] /

T 500 /
g 400+

) "' | /
£ 2004 / ; / ,,/
B3

0 293 313 333 353

Temp——

.'II..
)

II|
!
i

Vapour pressure

The following inferences are made :

(A) X has higher intermolecular
interactions compared to Y.

(B) X has lower intermolecular

interactions compared to Y.

(C) Z has lower intermolecu&r
interactions compared to Y. K\Q

. ; &
The correct inference(s) is/are : §
(s)is/ Q>

Options: &Q
1. @ S

2 (B)
3. ©

4. (&)and ©

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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A F-31e7 29 X, Y U9 Z & fow am
21| a1 99 % =19 U OTF A9 e

X Y Z

P e
0 293 313 333 353
aq —

e e Tt 79

(A) Y = go 0 § X H AqUAYE TAE
o SR T

(B) Y = o H X & SAqUHAF A
o feree 21

(C) Y =l go 1 H Z 1 SAq0AE TArd
o freae &

Options:

T 9

> ® &
3. © S

4. (47T (©Q)

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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ofELl-s(EL AL Ul X, Y 2L Z 2 gl
2 A AL 2 ARl 2L ©

X Y 2
— SUD Ui [} f 1

500+ ;

'] /
= .'"I ;’x /
E 400+ ;,f" /f’r /’f
= 200 J_,x"j # /_ -

0 293 313 333 353
YHIA—

o=y gL

AlZAL ARell sz

(A) X Hi @idz wuedld, widzlsa v -l
wruie(ll o ©.

(B) X #il #idz =uedld sidazlsy v
el 24l B,

(C) Z i =dz »pedly widzlsa v -l
el 24l 9.

M2 el 20l ;

Options:
1. A
9. (B) "~
‘&\@
@Q
3 (© S

4. (A) =1 Q)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The first ionization energy (in kJ/mol) of
Na, Mg, Al and Si respectively, are :
Options:

1. 496,577,737, 786
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9 786, 737,577, 496
3 496, 737,577, 786

/). 496,577,786, 737

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Na, Mg, Al @91 Si i 999 AT el
(kK] mol~ ! ) sweem: &

Options:

1. 496,577,737, 786

D 786,737,577, 496

3. 496,737,577, 786

Q&
Q
N

4. 496,577,786, 737 $Q\Q

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Na, Mg, Al 244 Si -l 21453 U2 2u-ls20
s (kJ/mol ! H) wi:

Options:

1. 496,577,737, 786

2 786,737,577, 496
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3. 496, 737,577, 786

4. 496,577,786, 737

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The strength of an aqueous NaOH solution
is most accurafely determined by titrating :
(Note : consider that an appropriate
indicator is used)
Options:
Ag. NaOH in a volumetric flask and
1. concentrated H-50, in a conical flask

Ag. NaOH in a burette and
2 concentrated I—I._,SD A in aconical flask

Aq. NaOH in a burette and aqueo@
3. oxalic acid in a conical flask ‘2,&\
&
N
Ag.NaOH in a pipette%nd aqueous

4 oxalic acid in a burette

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Tl NaOH faersm =1 9= gaifass agnda
T 30 WE A GR A o
(A2 ; fo=m SIS o TF 394 S99+ 5
IYETT T T R )
Options:

Feitd NaOH SAEaH1 Feiiieh § a4 9%
1. HyS0, TF FIfFHel T §
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Tt NaOH T =iz § a9 9=
5 H,S0, T Fiftahe e |

Wel™ NaOH U& =2 ¥ q91 seld
3, A UfaE v witEe W o

™ NaOH T% Tz ¥ a1 o™
4 e e U e |

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ot NaOH L gl Ao 2isex lsue
Yels 2lael def @A,
(eler : it i Al S i yaus Al Gl 244l

-

£9.)

Options:
sl NaOH $84IMs -5 ¥l 2

1. H:S0, sllsa samsul

N

N

S
S

orcdlld NaOH o4z 4l mn-& H,S0,
'\_rﬂ.a . @

9 sidlsd sl

seedlt NaOH v2{gzi 21 syelld s (s
3 =i sidlsa sarsul

seclld NaOH MUzl 21 secdl 2Ais[ds
4, s o

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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When gypsum is heated to 393 K, it forms :

Options:
1 Anhydrous CaS0,

2 Dead burnt plaster

q CaSO,* 0.5 H0

4. CaSO,-5H,0

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=g foa| =71 393 K 7% TH a1 9 €,

EEGI Sb' :

Options:

1. @ Caso,

S
; Q
o TE-TI &g\\
\Q‘Z}
@Q
$

g CaS0, 05 H,0

4. CaSO,-5H,0

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

S350 A 393 K 2 23 Sl 29 R,
A AlRiAmizl 2 v 97

Options:
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1. [/ CaSO,
g YA R
g CaSO,-0.5H0

4, CaSO,-5H,0

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The number of bonds between sulphur and

o .
oxygen atoms in ‘_-,2{_‘_]5 and the number

of bonds between sulphur and sulphur
atoms in rhombic sulphur, respectively,

are :

Options: Q
1. 4and6 &g\
&

9 4and8

3' S8and6

4 8 and 8

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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5,03 H TR T SO WA F
== e ] G a1 a9 J
TR QO] a9 9o & =919 A= &
HE 9 2

Options:

1. 4d=6
P 47918
3. 8TA6

4 8 941 8

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

S,05" i der wl @il wHg gl

2dal oAl vl i 2Bs UeR @l
MR 2 Mg WAL 422 e%&ug’ Huy
*"l-ys'll : $Q\
Options: N
ptions:
1.4 4 6
T 498
3 86
/], 88

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The third ionization enthalpy is minimum

for :

Options:
1 Ni

2 Mn

4. Co

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o ford ga™ =99 Tt A €, 98

e
Options:
1. N &
(&\@
S
2. Mn @
3_ Fe

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al 2L Ul sl gl 2-lsze s
el sl & 7
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Options:
1 Ni

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The complex that can show fac- and
mer- 1SOmers 1s :

Options:

1. [Co(NH;),(NO,)4]

S\‘Q&
NS
S
S

2. [CoCly(en),]

3. [Co(NH,),C,] "

4 [PYNH;),Cl,]

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

& HH S fac— A1 mer- FAEFA] HSfoid Il
5T

Options:

"| . [CDWH;};(NDQ};]
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2. [CoCl,(en),]

3. [CoNH,),a,]*

4 [P{NH;),Cl, ]

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

el s o fac— 2l mer- MHE2sAL U B d,
Options:

1. [Co(NH,);(NO,)4]

7. [CoCly(en),]

[Co(NH,),d,]"
3. A2 g&&%@
S
\Q‘Z}
@Q
4, [PYNH;),CL] N

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Among the gases (a) - (e), the gases that

cause greenhouse effect are :

(a) CO,
(b) HO
(c) CFCs
@ O
(® O
Options:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

1. (a)and (d)

9 (),(c), (d)and (e)

3. (), (b), () and (o

4 (@), (), (9)and @)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T (a) T (e) H, TH W1 WH=SE 794 e

EXGH| %, _b'\'l"'ﬂlT :
(a) CO,
(b) H-0
(c) CFCs
(d) O,

(e) O,

Options: %§®
"| (a) 41 (d) %2,%
2 Q(b'

N
@Q
$

5 (@), (0), (d) T (e)

3. (@) (b), (c) T4 (e)

4. (a),(b), () 71 (d)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Al A A (@) - (e) Wil o Ayl
UlAEGH 2343 B 53 9

(a) CO,
(b) HO
(c) CFCs
@ O,
() O,
Options: “

1. @ =(d)
7 (), (), (d) > (e)
3. (@, b)) »(e)

4. (a), (b), () >+ (d)

\\Q®
Question Number : 39 Question Type: MC ption Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 \Q
The most suitable reage@or the ‘given

conversion is :

HO,C |
CN
CONH,
)\L . COCH;
HOH,C
CN
Options:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

1 ' Liff'akll-l4
2 : BEH{E.

g H,/Pd

4. NaBH,

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fed ™ wyraw & fau maifas sw™aE

Hfﬂaﬁﬂﬁ%:
CONH, ﬂ:I '3
Py -
! —
HO,C .
N
. N
CONH, D
/1_ ~ COCH;,4 %%
- m[ ﬁ"“w/ $~Q\Q
Y s ‘x,K @
HOH,C
CN
Options:
1. LiAIH,
2 BZH{J
3. Hy/Pd

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

4. NaBH,

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Aol o o ulbys, U4 3wz 1,

HO,C |

HOH,C |

Options:
1. LiAIH,

2 . BEH{E.

g H,/Pd

4. NaBH,

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A flask contains a mixture of isohexane
and 3-methylpentane. One of the liquids
boils at 63 “C while the other boils at
60 “C. What is the best way to separate
the two liquids and which one will be
distilled out first ?

Options:

1. fractional distillation, ischexane

fractional distllation,
2 3-methylpentane

3 simple distillation, isohexane

4. simple distillation, 3-methylpentane

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TH TR H AGEREEA a9 3-Higei~
fagm %1 o =9 § UF 63 °C W g
T T 60 °C T 3 &1 TP EA! il
e i F HFY =1 3T T 594
A TS SEfEd 2 2 @$

Options:
1. SIS STHEA, SEHEFA

2 WS A, 3-Hf ey

7 IR S, AT

A, FER G, 3-Higeded
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Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

w5 SR 2LULsAA 21 3-BrEnddiedd
Bz 5. i, 215 ueudl 63 °C G501 & sl
oflyy uedl 60 °C 21 Gsal ©. dl dall 2
el 2 otz Mol werllsrel sreudl 2l
ol il v 594 uendl [Fredeq upel 7

Options:
1. [Bowll e, 2udaldssq

9 [Qowll [Hexien, 3-Faudd d-eq
3. g (e, 2udeildsoid

4, 5 Feieq, 3-Badai-eq

s@®
Question Number : 41 Question Type: Mc@ion Shuffling:Yes
Correct Marks: 4 Wrong Marks: 1 Q‘b'

Arrange the following compounds in
increasing order of C — Dl‘@)ﬂd length'

methanol, phenol, p-ethoxyphenol

Options:
1 methanol < phenol < p-éthoxyphenol

2 phenol < p-ethoxy phenol < methanol

3 phenol < methanol < p-ethoxyphenol

4 methanol < p-ethoxyphenol < phenol

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

= Ffei 1 C — OH 311a oiF=s & <=4

FH 1 =aitEd HIfau ;
HIAA, HiAE, p-TAFRA
Options:

1. A < WA < p-THTEFERHAT
2 AT < p-TAEEEHE < JIH
3. FHE < BIEA < p-UARERAIA
4. WIEE < p-UHEETEAIA < EiHA

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al2L 2404l H44lse-lA C— OH t-iueitdt%%%?ru

sHHL 2lsdl ‘&\%
Al B, p-9eliBu 341@\%
Options: @

1. BRdld < Bld < p-galsy baa

9 [ld < p-dallsi Ba < Fadla

3 [Hia< Badld < p-galsy (g

4. B < p-duilsy g < b
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following statement is not
true for glucose 7
Options:
The pentaacetate of glucose does not
react with hydroxylamine to give

1 oxime

Glucose reacts with hydroxylamine

2 to form oxime

Glucose gives Schiff’s test for
3 aldehyde

Glucose exists in two crystalline
i | forms a and B

Question Number : 42 Question Type: MCQ O@&Sb%.huffling: Yes
Correct Marks: 4 Wrong Marks: 1 S

@ﬂ%mﬁﬂmww@?
Options: S
ptions: Q
Q& E?F-x 1 R o '. El:ﬁ%[%;
T RS eEeHE | @fvima &
1. =l

oI, BITSIRACTUH o |19 ATlH
2 FH SAFEEH T

T, UfeEelse o oy fTh wirequr <o
3. &l
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TAF S T B9 o a9 | e
4, ¢

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al e Bendl U5l 5y 215 ogsls e Wl
27
Options:

sl Urztilize, gdglsild udd
1. e ula 53l sy 2l el

agsias, adgisdla A el w5
2 2 G B,

3. gsia aueslersl 2y s2liZl 2un 6.

ogslos A 24l2sMd o 2 B naﬁ”@s\
4' JHEEY &%
&

Question Number : 43 Question Type: MCQ' Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The major products A @and B in the
following reactions are :

. _CN Peroxide i
1y Heat A]

Options:
B 5 J CN

1 A - NandB=
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3’* {‘\JandB—"“‘*"J L

2‘&‘ 7 CN

3 R ,LT.__.. CN and B= -~ d:_.c__\]

A= % r!CN aid B — "'"“”’“‘}"'I"" CN

4.

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

= sfufFai f g s A a B ¥

\ON SIS

[A]+—~"~——B
Options:
A ’L"T’CN T B = N , CN

1.

(&\@
@\Q
3 A= > CNgqp= %\}CN
4. A r,CN A B = u.._l_...-C\J

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

All el usasi you Alusd A 24 B
LAl :

CN Peroxide
\\‘/ " Heat gy T

[Al+—"——>B
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Options:

W _LT...- CN 2y g= —FCN

e T W

1.

9. A _,..\H/CN 24l B= ,J],l &R

3. [

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The decreasing order of reactivity towards

dehydrohalogenation (E;) reaction of the

following compounds is :
@“
B) Sl ey e &6
N3
® A~ O
2

S Q
() cl

g .--"*::1‘::-
Options:

1. B>D>C>A

? D>B>C>A

3 B>A>D>C
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1. B>D>A>C

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

=1 2ifirent 3 Temmsgieasrem (E,) SAfafwan

& i sAfufsraeiteran 1 e % € :
{A} E—’l -\"'--.__\_l__.-'-f-ﬂx-\"'\-."--f

(B) Clmmﬂfmhﬂﬁ

© 4

O 4

Options:

1. B>D>C>A

2 D>B>C>A

&
3 B>A>D>C Q,&\‘Z’

$

4_B}D}A}C

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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AR el dellerdlAl Sledglédlnuq (E,)
ulsal el ulsicirl gedl suHi sl

5 |
@ S~

Cl
B S~

S
D

(®) Cl

Options:

1. B>D>C>A

2 D>B>C>A

3 B>A>D>C

®
= > = Q

Question Number : 45 Question Type: MCQ. Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The major product of-the following

reaction is :

H,C, .. OH ..
/"-. I o Y :.—_‘,r""llr dil. HESDQ:
H,C HiC
Options:
H,C

=

HyC HO CH;
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H,C  CH,

H,C,

o
<\x" MR

~\: OH
OH

/ i
4 HC OH  CH,

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fefafaa afufen =1 7= 5= 2 \Q®

S\
H;C f—:/_ OH E .
H,C HxC P
Options:
H;C,

—OH  aN
\ /N

N

1 HC HO CHs

CH,

i

e

()
Lon

5 H,C  CH,
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CHs

L
L_on

H,C
v JOH
\ \/

\\-r"fa-\"\.

: OH
4. MC OH  CH,

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ol el you Alyse 20l

H3C OH ¢ 14.50
\:ff—x::/— g H,50,

HyC HiC

Options:
HaC S &R Q
1. H;C HO CHj; \Q%'
&Q
$
CHj
eLa
)
OH
H;C CH,
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.'—'
e A
_OH
g HC CH,4
H;C
i \ OH
<\/"\
4. H;C OH  CH,4
Sub-Section Number: 2
Sub-Section 1d: 40503689
Question Shuffling Allowed : Yes

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0

g3 Hebe deield 42 Al GualaL vl 2uad
Wiz GUl alscuvil ermsl 2ud 6.
100 kg €64l 10 ppm 24 4l @Qu
sl sv2el (uprl) 2l ____&6_.

w1edls € : Fe=55.85; S=32 =16.00

Response Type: Numeric @
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

4,950 4.99

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Ferrous sulphate heptahydrate is used to
fortify foods with iron. The amount (in
grams) of the salt required to achieve

10 ppm of iron in 100 kg of wheat is

Atomic weight : Fe=55.85; 5=32.00;
0O=16.00

Response Type: Numeric
Evaluation Required For SA: Yes
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Show Word Count: Yes
Answers Type: Range
Possible Answers:
4.95t04.99

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

TH Hehe §2REe2 Fl AR & TR |
A & T wE@m v s 20 W) F
100 kg H =T F1 10 ppm T HA & feag
S T AT (W H) FR !
TIHTU ==FH1 : Fe=55.85; 5=32.00;
0O=16.00

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes
Answers Type: Range

Possible Answers:
4.95t0 4.99

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The magnitude of work done by a gas that
undergoes a reversible expansionalong the

path ABC shown in the figure is

N

Pressure S’Q\Q
(Pa) 10] RS
A B Q
NS
61 N
4 1 \“\
R LN,
(2,2) 4 6 8 A0 Volume

(m?)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

481048

Question Number : 47 Question Type: SA
Correct Marks: 4 Wrong Marks: O
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39 g F g, =i 99 | femrd ™ ABC U™
F FIER SERHUE THRY #7dl §, R T
14 = 9fE 2

T 4
(Pa)104
8 | .
61 %
2 \\\ 5
22 4 6 8 10 12 =me
(m?)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

481048

Question Number : 47 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

215(ci isid Y ABC Haret 2is iy wldadl
Bzl iy 5 dl Ay glrl ad s1d 9

{'r;tljk?l Fy ®
a)10+
Q
g A B N
" &
671 N &

41 e

2,2 4 6 8 10 12 <t

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

481048

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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What would be the electrode potential for
the given half cell reaction at pH=5"?

——

2H,0 — O; +4H® +4¢7;E0 , =123V

(R=8.314 | mol I K1, Temp=298 K;
oxygen under std. atm. pressure of 1 bar)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

-0.93t0-0.94

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

pH=5 W, =1 & A3 o Afufwa % fag
SoielS fava = e ?
2H,0 — O; +4H® +4e7;E , =123V

(R=8.314 ] mol ' K™ I; Temp=298 K;
HATFHSA A dgHSe™ a9 1 bar T)
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
Possible Answers:

-0.93t0-0.94 §Q\Q®
Sk

Question Number : 48 Question Type: O
Correct Marks: 4 WrongMarks: 0 Q

pH=5 W, 2l =il S04 Wy,

2H,0 — 0, +4H® + 46300 )= 123V
Y2 Besels WelEMd el
R=8314 J mol ! K~ ! div+d =298 K;
ll5Her4 WG ARl sl T iR MR

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

-0.93t0-0.94

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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The volume (in mL) of 0.125 M AgNO,
required to quantitatively precipitate
chloride ions in 0.3 g of [Co(NH,) ]CL, is

M[Co(NH,),]Cl, =267 .46 g/mol
M —1£
AgNO,=169.87 g/mol
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
26.60t0 27.0

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

[Co(NH,),JCL, % 0.3 g # FANEE #AEA *l
T+ 9 9 sEaftg +3 & faw 0125 M
AgNO, =1 Tohe1 A= (mL ¥) AE9TH
M[Co(NH,),]Cl, =267.46 g/ mol
MAgNO, =169.87 g/ mol

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers: Q'®

26.60to 27.0 S&&
Sk

&

Question Number : 49 Question Type: Q

Correct Marks: 4 Wrong Marks: S

[Co(NH,),JCL, -t 0.3 g Hl sr2allcys <ld
sdlR1s @A 2iEnila srarie e El 0.125
M AgNO, < 58 (mL i) .5~
M[Co(NH,)|Cl, =267.46 g/ mol
MAgNO,=169.87 g/mol

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

26.60t0 27.0

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The number of chiral centres in penicillin

15
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0

=,

qfafae= § w5d F51 #1 4= B

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0

YRR 2ddl Bud siedqAl v 208l

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

O

S
N
QQ\Q Mathematics

Section Id : N 40503659
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 100

Sub-Section Number: 1

Sub-Section 1d: 40503690

Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
.

82.1' B'“._'L
f(x)= Wr xe (-1, 1) F1 =gokA

e

ovtons: Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

- O 1+x
= 0 1 it s
4. 4 (ogge) Dg“f{l x]

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

' g ygx L3
[[eix 8.
N\

Options: S&&Q

1 1+x N

Zlﬂgﬁ {1 x \Q%.
i c 2 &Q

N

.1 %

= (1 1
2* 4 thSE] GBE( }x]

1—x

3. Ilog"' (1 | x]
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F 1+ x
1 — (logge) log, (ﬁ]

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The inverse functon of

SZ‘L S—E‘E

fix)=5———¥e|=1;1);is

Optiqns:
1 (1 4 xw

— log,,

1. ¢

'\._1 IJ

.l (1 x“|
3 4 Be 1+x
N\
N
i (logge) lo (1 l xw be&,
4 4 88 Ee 1 IJ$,Q\
' N

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If the equation, x*+bx +45=0 (beR) has

conjugate complex roots and they satisfy

|z + 1] =210, then:

Options:
1. b*+b=12
27 b’ —b=42
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3. b>-b=30

4. b +b=72

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Atg THER 12 + by + 45=0, (beR) & T
AfHF AL, 5 |; 4 1] = 2410 FHT= F
& Al
Options:

1. P*+b=12
2 b -b=42
3. b?-b=30

4, b +b=72

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks 1

sd H3dls201 22+ bx +45=0_(beR) i vller,
wirjotg 52 Aol M A d | 4 1] = 2410
o MM 52l

Options:

1. b*+b=12

7 b*-b=42
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3. b2-b=30

4. B +b=72

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

For which of the following ordered pairs
(p, 8), the system of linear equations

x+2y+3z=1
3x+4y+5z=p
4r +4y+4z=56

is inconsistent ?

Options:
1. (.0)
2. 39
3, 9 &
\Q‘Z}
@Q
4. (4.6) N

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

et ¥ % for 7090 T (u, ) F o s
x+2y+3z=1

3x+4y+5z=p

dx +4y+4z=3

3T (inconsistent)  ?

Options:
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1. (1,0)

2. 34

3, @9
4, (46)

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AledeAl Higl 59 sHYsd A (, 3) HE I
wHlszel el
x+2y+3z=1
3x+4y+5z=p
dx +4y +4z=56
Hapoud 42ll?
Options: S&&Q

1. (L0) &
S

2. G4
3. (43)

4. (4.6)

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Let two points be A(1, —1)and B(0, 2). Ifa
point .P(x’, y’) be such that the area of

APAB=5 sq. units and it lies on the line,
3x +y—4h=0, then a value of A is :

Options:

1.1

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AT A(1, — 1) 941 B(0,2) S fag &1 ot u=
93 P(,y) T@ 9FR & fF APAB &1
AEA=5 I THIZ & a9 g8 1@l
3 +y—4h=0 R =@ g d A FuF :

tions: %

Op : \Q‘Z}&,

1. 1 N
S

2 4

3: 2

4. 3

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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qiRlL S o [Clg2ll A(1, —1) 2L B(0, 2) ®. o
P, y) =g g % & Yol 3x +y —4n=0
Y2 2 €l 2 APAB o #osn=5 2l 2153

-

G, Al Al Bua B

Options:

1.1

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If a, b and c are the greatest values of
C,, *C, and *'C, respectively, }g{\g

Options: ¢§’
N
a_b_ ¢ Q
1 1 2 2 @
a_b_c
2 10 11 42
a b C
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Correct Marks: 4 WrongMarks: 1

A a, b T ¢ FFA: 19C,, 20C, 991 2IC, F
Aferepan 9 €, 1 :

Options:
el
1. 1
a
2 10
i
3. 10
a
4 11

_b_ &
22 21
_b_ ¢
11 42
e
11 21
o B B
22 42

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

N\
W, b 2 c A 2l 1°C, 20 a@@
Al Hegri Bl €, dl e [5

Options:

1.

a

11

*@\
b_c N
22 21
b _c
11 42
. '
11 1
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let f:R — R be such that for all xeR
(2! +x4+21-%) fix)and (3*+3 ¥ arein AP,

then the minimum value of f(x) is :

Options:
1.0
7 2
3.3
4, 4
™
Question Number : 56 Question Type: MC Ion Shuffling :Yes

Correct Marks: 4 Wrong Marks: 1 Q(b'

7 f:R — R wm%@\ﬁlxeﬂﬁﬁ
o 21+ x4+ 21-%), fix) ae%g(}“ra HTH
TR A H E, 1 fx) T FATH AR :

Options:

1. 0
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Rl s f:R — R 29 8 5 o2l ucds xeR
U (21742171, fly) el (3% +3 %) HHlck
sell (AP) i€l dl flx) -l 2y Bua

B,
Options:
1. 0
2 2
3.3
4. 4
"~
&6
\Q‘G

Q
Question Number : 57 Question Ty@l CQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

: "rxz + 2 /52 ;
lim is equalto :
x—0 h_?.’l’ | 2/‘
Options:
1 ¢
S
2. &
1
2 B
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
: "

(2.2 o 5/ 2
g |22 TS T E
-1'_}'[}'“TI 12;'
Options:
1. &
2, &
3. e
3,
4. &
N
g\
»
\Q‘Z}

N
Question Number : 57 Question Ty@ CQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

lim HE : ETIE —
I 3 = ([ i

30 \Fx" +2)

Options:

149

bvo
L]
m
[
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| =

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

w
2

then which of the following is true ?

¥

Let flx) =xcos ! (—sinjx|), x € [

k3| =

Options:
1 f1s not differentiable at x=0

m

£1(0) =

f' is decreasing in f
LY

. . - w
increasing in (U, E]

f' is increasing in ( gf{]] and
)

" " T
decreasing in (U, >

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A flx)=xcos ! (—sinjx|), x € [ ‘%, %}
gafmIa I AT e
Options:
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1 f, x=0 R ATHFAT T2l €|

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Gﬁf(x}=xccrs L (—sinlx]), x € [ z, E],
Al ALl 55w 97

Options: &
1. [rx=02=p10 [Esardla -2l Q\Q‘b
@

F(0) =

P

11[ = ﬂJiuw:gw@l.[ﬂ EJ i
3. daqd .
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r

ra(-30) wwg=afo 3)

4, Hiued o

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If ¢ is a point at which Rolle’s theorem

holds for the function,

IZI&'

] in the interwval

f(x) =loge [
|3, 4], where « € R, then f"(c) is equal to :

Optiqns:
NE)
T, %
1
2. 2
1
(&\@
1 Q\%‘\\Q
4. 12 N

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afe ¢ uw faig & fom W, ofawa 3, 4] 9,

2 k|
[ + O = =
Fed f(x) =log, [1 i
\ fX 4

?lTTLE?IﬂT%, T aeRE, ﬁf"{c}w%:

Options:

V3

T #
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2. 1
1
3.
1
4. 12

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
ot ¢ 94 A Big diuy & @l

2
r© 4o

f(x) =log, ( Hie #idud [3, 4] M

Al UHUA Wdd 53, o4l a e R dl
s A,

Options:

J3

1. 7

)

S\‘Q&
S
X

k.2 @§

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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If

p i 2 i A l
j . cosx dx ——— =fx) (1 + sin®x)™* + ¢
Sincx (1+ Hinhx] 3

where c is a constant of integration, then

hf{%J is equal to :

Options:

o | o

1.

oo | o

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 '®
S@

BT
; cosx dx N Q‘IZE N
jsi:nﬂl L+ ‘ﬂl‘l._l 7 I Hl@ )
€, el ¢ U GHEEA = T, @ hf(ﬂ =
oM 2 ;
Options:

9
1. 8

2

2. 8
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

e

il

e . =
j _CoSXAY  _ pa) (1 + sin®x)'s +c
sin’x (1 +sin®x)? .

-,

sedl ¢ ol MsddAdAl 2RERNs eld, dl

Y E—
Options:
9

1. 8

2

3
2. &

§§
Q\Q‘G

3. 2 N

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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For a > 0, let the curves Cl - y3=a,r and
G, e ay intersect at origin O and a point
P. Let theline x=Db (0 < b < a) intersect the
chord OP and the x-axis at points Q and R,
respectively. If the linex = b bisects the area
bounded by the curves, C; and C5, and the

1
area of AOQR = S then “a" satisfies the

equatjon :

Options:
1 W+6x3—-4=0

9 ¥ —-12+4=0
3 =123 —-4=0

4 O—6x’+4=0

Question Number : 61 Question Type: MCQ Op@%muffling: Yes
Correct Marks: 4 Wrong Marks: 1 &

a}ﬂgﬁmqﬁliﬁﬁcl: ax w41
Cis: 3=ay.ﬂ§ﬁ§{]ﬂm‘§@gpmm
&1 HEI W@ x=b, (0 < b < d), W= OP a1
x- 1% 1 AW gl Q aun R 9T et 1
Ifg @ x=b, =i C, 79 C, 5 =g &5
+1 wafguifsa +3dt & 9491 AOQR =7
%ﬂﬁ=%%ﬁ1afﬁmwﬂwiﬂﬂgﬁm

%Eﬁf%

Options:
1 x0+6x3—-4=0

2 X -123+4=0
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3. ¥=12x3-4=0

4. -6t +4=0

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

izl 5 a >0 e 4sl Gy y3=ax il
C, i ¥?=ay ww Gl O 21 (g P
2P 9% B, HRLE vl x=b (0 <b < a) ¥,
9l OP A x- 248 21454 (G521 Q 21 R
4l 9e 8. sd il x=b @l sl C, 24 C, gl
2l AL B0 §odl 2 AOQR |
A [ I "

tagn=C el dl 2" W
wlsvield WA S

Options:
1 xb+6x°—4=0

7 =123 +4=0 S&\

7 A 12x*—4=0

4, -6x’+4=0

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Let y=y(x) be a solution of the differential

equation,

V1 nglwl y2={],-x'=-'l_

i
Hy(z]:— meny[ > ) is equal to :

Options:

@)

)
"~

Question Number : 62 Question Type: Mc@mn Shuffling” Yes
Correct Marks: 4 WrongMarks: 1 Q
N\

B €1 afe y[%} = g g ary {—;] CHECT
&
Options:
1
1 2
e
2. V2
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5454
2

4.

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QLS y=y(x) =i [Bsa sz

V1 xzd—glﬁfl yz =0,1xl <1 «l Gy
.rw
5/=%

_(E.
a3 | =

|
‘\\_

Options:

k]
1. 2

"~

> (&‘g

2. V2 R\
$

5
3. 2
42

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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The locus of a point which divides the line
segment joining the point (0, —1) and a
point on the parabola, xl=4y, internally
in the ratio1: 2, is :

Options:

1 @2-3y=2

2 r—3y=2

3 9x2—12y =8

4. 9 —3y=2

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fag (0, — 1) T WEwd 1> =4y W fead o
fag =1 A 9 T@mEve &1 1: 2 % 9

H i A w3 9 fag =1 faguy 2
Options: K&Q'&
1 42-3y=2 §®
\Q‘Z}
@Q
$
2 1‘3—33;:2

3. Ox2—12y=8

4. Ox2—3y=2

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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{E-"tg (0, —1) 21 Wedd x2=4y Yz [Ggd
sdScll TulVis, 1: 2 @il 2id: [Aler
s3cll (G-l [Cigua 5.

Options:

1. &*-3y=2

2 r—3y=2

9 92-12y=8

4* O —3y=2

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let the line y=mx and the ellipse

2x*+ y? =1 intersect at a point P in the
quadrant. If the normal to this elli g’&gﬂt P

meels the co-ordinate axes al\% ]
¥ 32
®
and (0, p), then § is equal O :
Options:

N5

1. 3

| h

&
S
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Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

HA G y =my 791 aEgd 22 + y2=1, 999
Jquts # from t fag P wwed £ 1 afs 5w
Sieg &1 P W aAfyed, Fewie safi #1

1
[ ﬁ:ﬂ] a1 (0, B) W A B, /B H

AT
Options:

A
L | l:.:ﬂ

1.

| 1

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

QIRL 5 2wl y=mx 2 Guaay 22+ y2=1,
Y =ML W P [Gga 98 8. sl 2
GuaadAl (g P 2o -l wAlode, qsiele

i

1
,{ﬂ % pLR i %
L 2 jmrl 0, B) (5=l =l 34, dl

P o o

Options:
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L | k2

e
S

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The shortest distance between the lines
x-3 y—-8 z-3
= and
3 1 1 ®
. %Q
x+3 y+7 z-6 @
= = is
3 2 1 Q@

Options:
1. 230 @$

2. 330
3.3

7
1. T

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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I

3 2
[E:
Options:

1. 2%

2. 330

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 ®
; \Q

r—3 ¥y—-86 -r—3

— WX
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let the volume of a parallelopiped whose

coterminous edges are given by

-

al ey N ) ) M
i +7+\k, v=1+7+3k and

=3? | ; | i be 1 cu. unit. If 6 be the

=

— —
angle between the edges u and w, then
cosB can be :

Options:
5
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 66 Question Type: MCQ. Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The mean and the standard deviation (s.d.)
of 10 observations are 20 and 2 respectively.
Each of these 10 observations is mu itlpi&d
by p and then reduced by q, where g\\r 0

and q # 0. If the new mean d new

s.d. become half of their o aI values,
then q is equal to : %

Options:

1. 5

2 10

3 - 10

4 —20
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Correct Marks: 4 WrongMarks: 1
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Question Number : 67 Question Type: MCQ Opti@huffling: Yes
Correct Marks: 4 Wrong Marks: 1 Q
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Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let A and B be two independent events

| 1 1
such that P(A) = y and P(B) = = Then,

which of the following is TRUE ?

Options:
1
1 P(A/(AUB)) = -
.1" A/B) = .
g LU
1
P(A/B) = —
3. Wl =g s\®®
(&\@
Q
P(A'/B') = . Q$Q\
" 3 N

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Let

f(x) = [sin(tan 'x) + sin(cot 1) -1

dy 1 d
f>1 I L =2 =

o (sin"1(f(x))) and

y[ﬁ]=g,then.y( J3) isequal to:

Options:
1. 6
o
2
5_".1'
3. 6
m
4, 3
Q
Question Number : 69 Question Type: MCQ (@(ﬁ% Shuffling : Yes
Correct Marks: 4 WrongMarks: 1 &
H Q\@*
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Options:
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3. 6
4.3

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Rl S
f(x) = (sin{tan L) + sin(cot Ix}}lz 1 -

A >1. e === — (Sin_l{,f(x}}} e

=

y(B) =2, d y(—3) =

Options:
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2.3 3
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the following is a tautology ?

Options:

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

1. PA®vO
2. PV (PAQ
3. (PA(P—Q) —Q

4 Q= (PA®—Q)

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

izl 54 oy 97
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Sub-Section Number: 2
Sub-Section 1d: 40503691
Question Shuffling Allowed : Yes

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The least positive value of “a’ for which the

equation, 22?4 (a— 10)x + ? = 2a has

real rools is

Response Type: Numeric ®
Evaluation Required For SA: Yes K&Q
Show Word Count: Yes @
Answers Type: Range (b§’
Possible Answers: ,Q\Q

8to8 @$

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks:.0

‘a’ W 98 JAdH HAHF A, faad fan

FHHI 222 + (a — 10)x 4 ? ~2a *

AT g §, § |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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2 33

wolsrel  2x° + (a— 10)x A 5 =2 4

elds ollsd € ddll ‘a’ Al agny 4 Bud
5.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The number of all 3 X3 matrices A, with
enteries from the set {—1, 0, 1} such that
the sum of the diagonal elements of AATis

3,is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

67210 672

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

UH T3 x 3 =R A & 9, o+
g=E {-1,0,1} A a9 AAT F

HIFE FAMEAS 2, B S
\Q§

Response Type: Numeric $Q
Evaluation Required For SA: Yes @
Show Word Count: Yes

Answers Type: Range

Possible Answers:

67210 672

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sgetl U251 2L {—1, 0, 1} izl €l 244 AAT
AL [EselAl sz sl 430 3 €14 dell dHM 3¢ 3

-

glosl A Al vl 8.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

67210 672

Question Number : 73 Question Type: SA
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Correct Marks: 4 WrongMarks: 0
20

The sum Z{l 2+ 3+ ... +k) 1s
k=1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1540 to 1540

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

20
WZ{uzim_._uq%
k=

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1540 to 1540

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

20
Wl Yy (1+2+ 3+ ... +K) W\
1;-1( N

Response Type: Numeric @
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1540 to 1540

Question Number : 74 Question Type: SA
Correct Marks: 4 Wrong Marks: O

Let the normal at a point P on the curve

yz— 31‘1+y+ 10=0 intersect the y-axis at

33 _
Iiﬂ. E,J . If m is the slope of the tangent at

P to the curve, then |m| is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
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Answers Type: Range
Possible Answers::
4t04

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

HA 9% y2-3x2+y+10=0 % fdg P ™

(s E - 3
=1 T Afed, - A9 H {ﬂ, ﬂ T el
=/

T PR 9% & o9 M@ F @ m §, al
im| AT |

e

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

4104

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric §®
Evaluation Required For SA: Yes gﬁ\
Show Word Count: Yes &

NS

Answers Type: Range \
Possible Answers : QQ
4t04 N

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

An urn contains 5 red marbles, 4 black
marbles and 3 white marbles. Then the
number of ways in which 4 marbles can be
drawn so that at the most three of them are

redis

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

490 to 490

Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
490 to 490

Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0

wis 4sl ML 5 Al quiigll, 4 swell quilié=l
2w 3 uiE AvliZlal 5. sl wyul 9y Al
Aule 2l Al i d 2ld 4 quiigla ws seendl
el 2wt 8.
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
490 to 490
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